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2. 9 AED T A2 25 o A

i
ry
ofn
ru
>

o] g& Fabolat,

9 O] AlF: +3
25 O] AlFL 1 45
9 AFTF A2 25 JAFET T EFT T2 -3+5=2




3. x>149d, /(x-1)2- /(1-x)?2 9 g oozt

> E

> He: o

x>10B82 x-1>0,1-x<0
@H) = (-1 - {-(- )
=(x-1)-(x-1)=0




4. oI+ /(-T2 & Astelet,

V64 + /(-7)2= V64 + VA9 =8+7=15




5. V120 ol va & FHHY 4257t HA a O] HE3E okt

VIZ0 = VB X3x501B2 47} F4e A B4} HEs
r

Sz}, o2 a4 Mo R BhE7] SaAE VBT X3 X 57
o] Elojof g,

wehA V120va = V23 X3 x 5a = V24 x 32 x 52

Soya= V2x3x5

La=2X3X%X5




